com

Penoresans

ISO 6431 FRSIIREMH
1SO 6431 Standard Cylinder Accessories

Cylinder center line E § Sﬁnﬁc{)ﬁgsre 32 40 | 50 63 80 _100 125 | 160
c% EEL AA 158 179 | 190 209 | 248 | 266 200 340
2‘; ':‘; AC 142 161 170 185 210 228 250 300
AC AD 8 9 10 12 19 19 20 20
AA AE 47 53 | 85 75 95 115 140 180
] I 7 AF 32 36 45 50 63 75 90 115
\4’}@\3 & :M I @EIﬁ AG 24 28 32 32 41 | 45 45 60
®/ : IS AH 32 36 | 45 50 63 71 90 | 115
AP 7 9| 9 8 | 12 145 165 185
I1SO-LB®E!(Type) ¥ %(Foot Bracket) AT 3 3 4|4 |6 | 6
ji Sfj;%fre 32 40 50 63 | 80 100 | 125 160
DaY,. s 47 53 | 85 75 95 115 140 180
T 325 38 | 465 565 72 | B9 110 140
@ © DC 22 | 25 | 27 32 | 36 | 41 | 50 55
DD 9 12 |12 15 | 15 20 25 30
DE 0 12|12 16 16 20 25 30
@ D DJ 13 | 16 | 17 | 22 | 22 | 27 | 33 | 355
. T DQ 258 27.8 317 397 497 597 69.7 897
- SyffrlfélﬁlIB%r . 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160
cT [ 22 | 25 | 27 32 | 36 41 50 55
ar cD 9 | 1212 1515 20 25| 30
critd CE 0 12 12 16 16 | 20 25 30
cJ 13 16 | 17 | 22 | 22 | 27 | 31 | 355
cP 26 28 | 32 40 50 60 70 90
cT 45 52 | 60 70 90 110 130 170
PA1 51 59 67 77 | 97 | 119 139 181
PB1 455 525 605 705 905 1105 130.5 1705
s 47 53 | 65 75 95 115 140 180
T 325 38 465 565 72 | 89 110 140
ISO-CB&!(Type) M E (Double Earring)
Sﬁﬁéﬁgfm 322 | 40 | 50 63 80 | 100
A 66 66 9 9 1 1
B 11 1 15 15 18 18
BG 18 22 30 35 40 50
g BH 31 35 45 50 60 70
: BI 21 24 33 | 37 | 47 | 56
BL 8 10 | 105 | 12 14 17
BM 32 36 45 50 63 7
BN 38 41 50 52 66 76
BO 51 54 85 67 86 9
BS 12 15 18 22 20 20
: BR 20 22 26 30 30 38
‘\"’:{w‘@ c 16 1.6 16 1.6 2.5 2.5
D 10 12 12 16 16 20
F 105 105 105 105 105 | 105
ISO-SDB #(Type) G 3 3 3 3 3 3
BQ 25 28 32 40 50 60

PNEUMATIC

200

380
320
30
220
135
70
135
24

200

220
175
60
30
30
36

89.7

200

60
30
30
36
90
170
181
170.5
220
175

125

14
20
60
90
70
20
90
94
124
30
45
3.2
25
10.5
3
70



-~

=
o
<

ISO 6431 IFESIIREM
ISO 6431 Standard Cylinder Accessories

Penoresan E'BjH anﬁélﬁgfre 32 | 40 | 50 63 | 80O | 100 | 125 160 | 200
AJ 11 | 11 | 14 | 14 |17 [ 17 | 19 | 25 | 25
:'f - AK AEEEEEREE IR EEIE AR
T — @ BA 305 355 405 455 455 555 605 655 755
=] | BB 10 10 12 12 16 16 20 20 25
® @ ®©® BC 47 53 | 65 75 95 115 140 180 | 220
/\ g9 BD 32 | 36 | 45 50 63 | 75 90 | 115 | 135
‘w{ﬂg}q_ﬂ K _/ BE 80 90 | 10 125 154 186 224 280 320
® @ @ ®- BF B4 | 72 | 90 100 126 150 180 | 230 @ 270
= -y BH 4 | 4 | 4 | 6 | 6|6 | 8| 8|12
" BP 7 9 | 9 9 125 145 165 185 24
ISO-FA/FBEI(Type) i =#(Flange) T 325 38 465 565 72 89 110 140 175
5051 S;fnﬁéﬁgfre 32 | 40 50 | 63 | 80 | 100 | 125 | 160 | 200
ET SR = EB 100 113 125 140 160 182 - =
BHC EC 52 | 63 74 80 105 128 - . .
i ED 325 38 465 565 72 89 - - -
SF/—F\fQ EE 52 | 63 75 90 105 128 - . ‘
jg 9 EG 25 | 25 | 25 |26 | 256 | 25 [ - | - | -
— _é 4 EP 12 | 16 | 16 | 20 | 20 | 25 | - - -
] ET 20 22 22 28 28 34 - . g
- Oeb HC 37 | 45 55 68 87 1075 - . g
ISO-TC #(Type)h#&(Central Trunnion)
1SO-Y & (Type) &k (Joint)
NQ NE
D ND
""’ ( LI - \ NE I NG NH
: ??I_._._'._._._' _________ o s s {*ﬂ /_
’ i F SFmuss Vi 3 -
' l Y EType 1 8Type
ISO-Y+#§F(Pin) 1SO-Y++#(Clip)
S%’Eﬁ;ﬁ o 32 40 50 63 80 100 125 160 200
NA 19 25.4 32 32 44.4 44.4 55 70 70
NC 10 12 16 16 20 20 30 35 35
é ND 40 48 64 64 80 80 110 144 144
' NE 52 67 89 89 112 112 155 201 201
NF 15 24 32 32 40 40 50 50 55
NG 20 20 23 23 30 30 56 72 72
NH  |M10x1.25 M12x1.25 M16X15 M16X15 M20X15  M20%15 M27x20 M36X20 M36x2.0
NM 10 12 16 16 20 20 30 35 35
NP 20 24 32 32 40 40 54 72 72
1SO-1 B(Type)i&sk(Joint) NQ 52 62 83 83 105 105 148 191 191
PA 26.2 328 39.3 39.3 53.3 53.3 64 80 80
nn 20 265 33 33 45 45 55.6 70.6 70.6

PNEUMATIC



5
Penoresan<

ISO 6431 FRSIIREMH
1SO 6431 Standard Cylinder Accessories

. » " ijn'géﬁla‘fre MA MB MC MD ME MF MG MH| Ml | MK
tal. %’_ 32 5 22 7 21 26 M5 7 10 | M10X125 12
. j LA 40 58 22 8 21 28 115 8 | 12 [M12x1256 12
._l & G S ) 5 50 9 27 10 41 445 20 10 | 17 | M16X15 | 7
j ,'_'; 63 9 27 10 41 445 20 10 17 | M16X1.5 | 7
80 102 29 13 46 53 24 13 22 | M20x15 | 10
- - 100 102 29 13 46 53 24 13 22 | M20X15 10
125 147 54 13 64 62 39 14 30 | M27x20 | 9
- 160 251 72 22 115 80 80 18 36 | M36x20 4
ISO-UJ (Type) 200 251 72 22 115 80 80 18 36  M36x2.0 4
250 #% L (Float Joint)
/‘.\ - S;ﬁéﬁgfre PA | PB PC PD PE | PF PG PH
4@ 32 1 | 26 10 21 43 56  M10X125 13
: 40 12 | 30 12 24 50 65 M12x125 13
| & i 50 15 | 38 16 33 64 83 MI6X15 15
H o 63 15 | 38 16 33 64 83 MI6x15 15
¢ A q 80 18 | 46 20 40 77 | 100 M20x15 15
8 100 18 | 46 20 40 77 | 100 M20x15 15
1SO-PHS ®(Type) 125 a7 70 30 51 110 145 M27x2.0 15
8 iR #% 3k (Fisheye Joint) PF 160 43 | 80 35 56 125 165 M36x20 16
200 43 80 35 56 125 165 M36x20 16
FESIIREME
Standard Cylinder Accessories
S;iféﬁgie 32 | 40 50 63 80 100 125 | 160 200
AA 153 | 169 173 184 | 199 210 249 328 380
AC 134 | 140 149 158 167 174 213 288 320
AD 95 (145 12 13 16 18 18 20 | 30
AE 50 57 68 80 97 112 140 180 220
\P\ AF 33 36 47 56 | 70 84 80 | 115 | 135
Y [[NAE_ AG 205 235 28 31 30 30 | 45 60 | 70
I ] AJ 28 | 30 365 41 49 57 90 115 135
LBE(Type) (]L) '$' AP 9 |12 | 12| 12 ] 14| 14| 18 | 18 | 22
X %E(Foot Bracket) AT 3 3 3 3 4 4 8 8 10
Sjﬁéﬁgﬁe 32 | 40 50 63 | 80 100 | 125 160 200
BD Il H BA 283 | 323 383 383 473 473 56 63 81
@ ) BB 10 10 10 12 16 16 | 20 | 25 25
[ BC 47 | 52 65 76 | 95 115 140 180 220
R
i /--\ BD 33 | 36 47 56 | 70 84 90 | 115 135
o) H K / § BE 72 | 84 104 116 | 143 162 224 | 280 320
@ @4 v BF 58 70 86 98 119 138 180 230 270
- Q’/ﬂ BH 65 | 65 65 85 105 105 15 20 | 20
S ) AJ 105 105 135 135 5 5 | 19 25 25
AK 65 | 65 65 85 105 105 125 165 165
FA/FBE!(Type) BP 7 7 9 9 1 1 16 18 22
& Z#i(Flange) T 33 | 37 | 47 | 56 | 70O | 84 | 110 | 140 | 175

PNEUMATIC



y

FEESIIREMST
g Standard Cylinder Accessories
Penoresan<
Sd. = be 04 o el 32 | 40 | 50 | 63 | 80 [ 100 | 125 | 160 | 200
- ‘ /. '_J.O_‘ﬂ_ S 48 50 62 75 94 112 140 180 220
,:/’{_m\‘ 2 L . o T 33 | 37 47 56 70 84 110 140 175
| DD DC 34 | 34 34 34 48 48 50 55 60
B I e r?g DD 14 | 14 15 | 15 20 | 20 25 | 30 30
“ 1 UL epe DE 12 | 14 |14 | 14 [ 20 [ 20 | 25 | 30 | a0
¢ +— @ DJ 14 | 14 | 15 | 15 20 | 20 25 | 30 30
CAR!(Type) 8 (Single Earring) DQ 16 | 20 20 | 20 32 32 70 | 90 90
o oo Siiafgfre 32 | 40 | 50 | 63 80 100 125 160 200
h cT oc .Cd cc 19 | 19 19 | 19 32 32 50 | 55 60
iy - - cD 5 | 5| 3| 2|8 |8 |25] 3 |30
~ Q / | ] - CE 12 14 14 | 14 20 20 25 30 30
: S jﬁ e L= CJ 13 | 13 | 15 | 15 [ 21 | 21 | 25 | 30 | a0
Yoy | (\ cP 16 | 205 203 203 323 323 70 90 90
j $CE fo7) 32 44 52 52 64 64 120 160 160
(a3} -+ ] PAI 41 518 603 603 738 738 130 170 170
PBI 335 458 54 54 655 655 121.5 1615 1615
s 48 | 50 62 | 75 94 94 140 180 220
a“ T 33 | 37 47 | s 70 | 70 110 | 140 175
W JAEI1E 32-100R9CAFNCB, FHANFTLURH2F TR R~ SR, 1.8
CB&!(Type) £ E(Double Earring) 248, IBETITREMRERBAME, M125-200 £E0HE.
CA and CB From 32-100,we can supply two kinds of materials
products:1.lron material 2. Aluminium material. When placing order,
please indicate product material. From 125-200 are all iron material.
L L 2
B
NH
T ™ v
1 Y 8(Type) { 65‘ g = = I 18Type)
YRIE L (Type Joint) Si?n?éﬁgfre 32 40 50 63 80 100 125 160 200
NA 19 25.4 32 32 44.4 44.4 55 80 80
NB 20 24 32 32 40 40 45 54 54
NC 10 12 16 16 20 20 25 30 30
ND 40 48 64 64 80 80 110 120 120
NE 52 67 89 89 12 112 155 130 130
NF 15 24 32 32 40 40 40 35 35
NG 20 20 23 23 30 30 56 50 50
NH M10X1.25 M12X1.25 M16X1.5 | M16X15  M20X1.5 M20X1.5 M27 X2 M36x2 M36 x 2
NJ 12 20 22 22 30 30 30 40 40
NK 18 23 30 30 39 39 54 54 54
NM 10 12 16 16 20 20 48 40 40
MP 20 24 32 32 40 40 64 35 35
1B §% 3L (Type Joint) NQ 52 62 83 83 105 105 148 150 150
PA 25 32.8 39.3 393 53.3 53.3 64 91 91
PB 19.5 26.5 33 33 45 45 55 81 81

PNEUMATIC



\f

FRSIREME

g Standard Cylinder Accessories
Penoresan®
L ]
o S/
w i | SymbolBore 40 50 63 80 | 100 125 160 200
EB 113 126 138 164 182 210 264 336
m;; =) | O (] L. 1 - (o EC 63 76 88 114 132 160 200 240
w LI.H w - =
ED 37 47 56 70 84 110 140 175
EE 63 76 88 114 132 160 200 240
EG 25 25 25 25 25 25 32 48
SEP ET EP 25 26 25 | 25 | 25 | 25 | 32 37
ET 30 30 30 30 40 30 38 44
TCE!( Type) EC
th§2(Central Trunnion) S 455 555 685 875  107.5 1345 1725 2125
- s ®HC HQ  HR
/o A\
b
\ —
\ i
b l/g z
[ 11 \——/ gl
M —
TC-ME (Type) HA E
FS/EE HA HB HC HD HE HF HI HJ HQ HR HT HP
Symbol/Bore
40 110 80 45.5 22 109 86 815 50 23 2 12 12
50 110 80 55.5 22 122 99 88 50 23 2 12 12
63 110 80 68.5 22 134 111 94 50 23 2 12 12
80 120 85 875 22 160 137 127 70 23 2 14 14
100 120 85 107.5 22 178 155 136 70 23 2 14 14
Mini Cylinder Accessories
LT MK MJ MF B
¥ PRy 186
" \ _ ‘—;4 Symbol/Bore MA MB MC MD ME  MF  MGMH MI/MJ MK
| . O o N ) PR :__-__ E E 20 51,20 6 17 8 M8X125/12 24 13 8 M8X1.25
] 11— 25 58 22 7 |21 8 M10xX1.25/12 26 17|10 M10X1.25
32 58 | 22| 7 (21| 8 M10X1.25/12 |26 | 17 | 10 M10X1.25
MG 40 58 22| 8 (21 | 7 M12x1.25 12|28 19|12 M12X1.25
M-UJ&(Type) [MC| wmD ME
%53 3k (Float Joint) MA
PB PE
| i
! ) /IR
Y e = i
g n.I: r @ Symbol/Bore PA PB PC PD PE PF PG PH Pl PJ PK PL PM
: o | 20 8 12 9 104 22 36 |47 ([MBX1.25|17 16 125 5 | 14
L Nl
ll —— H ,";. i3 25 10 14 11 129 26 43 56 M10x125 21 19 15|6.5| 17
f ' : i 32 10 |14 11 129 26 43 56 M10x125 21 19 15 6.5 17
o ' ! 40 12 |16 12 154 30 |50 65 M12X125 24 22 1756.5| 19
1] 2 <]
M-PHSE!(Type) - -
& iR4% 3k (Fisheye Joint) I“EH-IP" I_FELJ

PNEUMATIC



E(RSILER

~
E Mini Cylinder Accessories
Penoresan<
- BC
B C+i7 12(Stroke) BC o H C+{7#2(Stroke)
F r— F ED
= - s
; I L2k
-l - I = - T
_ CHge ) ol
‘ N
g—- |
M-FA #(Type) BB [[zeep s °ify
# 2 4fi(Flange) $16~¢ 25 $32~$40 ||s-oBP
b N [ & C(MSA % %|/Series) C{MSAL % 7|/Series)
= ’ BC BD BE BF BP F
o Symbol/Bore MA %Fi(Series) MAL % 3i(Series) 0-50 | 51-100 0-50  51-100
5 16 38 60 . 60 85 2 3 /26| - | 62|40 65 16
20 40 76 70 76 101 70 95 4 38 - 64 50 | 65 | 12
- 25 44 76 70 76 101 70 95 4 |38 - |64 50 65 14
M-FA-A #(Type)
EEIFIangs) 32 44 76 70 76 101 70 95 4 47 33 | 72 58 65 14
40 46 76 92 76 101 92 17 4 50 36 84 70 | 65 | 14

B HARTARBILER FRESECEZR, NWREFERXTR, BHESTITHEENE-A, M-FA-32-A,

Our company can also provide this used for mini cylinder flange, if you need, pls add A after all ordering code, like M-FA-32-A

B E
LS it = @-
AQ
AB P ; F
111 i 111 i 111 |
=]
AL 4-h AP '
AE AF
M-LB #(Type) AA+ AE
% %2(Bracket)
T AA AA AAMSA | AA(MSAL AC AC AC(MSA | AC(MSAL
Sﬁ‘gﬁ%’fm B F (MAEEEH(MAL}?:W! #%/Series) FFl/Series) AB (MA?F&IH ME;\H?EWHSBFIBS) ?f":?'l&Senes) AE | AF | AL |AQ |AP | AT |AH
e Series) | Series) | (.50 51-100 0-50 51-100 Series) |  Series) .50 51-100/0-50 51-100
16 38 16 98 - 98 123 - - 25 86 - 86 11 - - 44 32 13 6 5.5 3 20
20 40 12 122 116 122 147 116 141 25 106 100 106 131 100 125 54 40 15 8 6.5 3 25
25 44 14 122 116 122 147 116 141 29 106 100 106 131 100 125 54 40 15 8 6.5 3 25
32 44 14 142 136 | 142 167 136 161 19 126 120 126 | 151 (120 145 59 45 (25 | 8 65 | 4 |32
40 46 14 142 158 142 167 158 183 21 126 142 126 = 151 142 167 64 60 25 8 65 45 | 36
CB+Stroke _ D ca
PA 8 g
-~ W W N
é /o
4-4CP | ©
"| O
T L1l J11 10 L
M-SDB &(Type) —LE . CA
F % (Bracket) DYEET <] - CE
e/ CB(MA = CB(MAL e
S);mﬁt;OUBofe D| S| Q) CA ?f'-\’illr’éeﬁes} ﬁ?llf(Series} (MSA RpuSares) | (MBAL BWSess) | cp | CE | CF |CH |CT [cP (GO (PA [PB
0-50 | 51-100 | 0-50 51-100
16 16 9 12 - 107 - 107 132 - - 23 - 12 |20 |23 |65 |165 | 21 17
20 21 12 16 | 51 128 122 128 153 122 147 48 | 67 | 32 | 32 3 65 |22 |27 |225
25 21 12 16 | 51 132 126 132 157 126 151 48 | 67 | 32 | 32 3 65 |22 |27 |225
32 27| 15| 16| 51| 135 129 135 160 | 129 154 52 67 36 36 4 65 24 30 45
40 a7 o o e 117 153 137 162 153 178 5 ™ 40 40 4 65 (28 |34 (285

PNEUMATIC



ERSETER

E Mini Cylinder Accessories

-)
Penoresan<

®5
M-Y BI(Type)$&k(Joint) =
I

WG =
i

M-Y+44F(Pin) M-V+*N(Ciipl

012

17
| 12.5 I
—

$16

PA
CONA
NM
Laaug
HE !
H
:
[ ]
i
—
y
=
o :
-
-
NM
T
L1}
r i
M
P

i J P T W E— NG | \nH
NP ity
ND
. E é]7
4 : . - Tl —
i [ = | @&
_ = 420~ 424
. NG
M-I 8(Type)#& sk (Joint)
1 S/E112Symbol/Bore NA NC ND NE NF NG NH NJ NK NL NM | NN NP  NQ PA PB
20 16 8 30 40 1 15 M8x1.25 10 16 14 8 8 15 40 21 16.5
25 19 | 10 40 52 | 15 20 M10x125| 12 20 18 10 | 10 | 20 52 25 | 195
32 19 10 40 52 15 20 M10x1.25 12 20 18 10 10 20 52 25 19.5
40 254 10 45 57 15 25 M12x1.25 15 24 23 14 10 20 57 31 26

. - ’ BU |
#, Y I I
\F : !
| % o 9 ____
i t) §xas i
c BT CH !
o
M-U & (Type)
% % (Bracket)
S /5112Symbol/Bore B E C H X N (0] S G BT CG CH BU S
8/10 4.5 4 125 24 20 8.1 13 5 25 4 14 3.7 0.5 17 0.2
12/16 5.5 6 15 27 25 13 18 3 6 19 56 0.8 24 0.4
20/25 6.6 8 20 29.5 32 16.1 24 10 4 8 25.2 75 0.9 29.5 0.5

Cylinder Special accessories

HAB A LLARRENSLRIERES

: ] HEH, BINBRIBEREHESR
' aHE fR R FIE.
Our company can customize all kinds
of non-standard cylinder accessories

acco-rding to your drawing or sample.
CA with Be:

PNEUMATIC



1

Penoresan

B2/

)

+COM

B X

Magnetic Switches

=] 3 o5 AL
Model 7= f/Product 4 3438 /Contact Type
FlEG/EEE
CS1-8 Amagnetic reed switch contact
CS1-SN . T 1% /8 & URNP N4
\ Contactless NPN transistors
CS1-SP Te $ /e 8 RPN PHi
Contactless PNP transistors
FEAMEE
Cs1-J Amagnetic reed switch contact
CS1-IN Fo i S/ 5 IENP N#
Contactless NPN transistors
RS T 4% 45/% 8 HRPNPHi
Contactless PNP transistors
BESMEE
Cs1-U Amagnetic reed switch contact
’ 1% S/ @ NP NI &
o ‘.;/y Contactless NPN transistors
CS1-UP \/ T 1 /% B HPNPH
Contactless PNP transistors
BIESMEE
CS1-M Amagnetic reed switch contact
Fo % A8 5 NP N
- / Contactless NPN transistors
CS1-MP 7o 1% S/ B RPN P tH
Contactless PNP transistors
#8/Model 7= §/Product A% 8 X/Metal strip model
BK EEH 77
T BK fixed metal band series
g i v PAB [ 0%
ixed y A iE
metal &m - PAB fixed metal band
band WE——
PN ElE®& &5
PN fixed metal band series
#JS/Model 7= fa/Product F* A A {/CLAMP MODEL
Pl XA RF|
< Pl fixed Clamp series
e L L PAC %2
Clamp . . PAC fixed Clamp
-

PME R &5
PM fixed Clamp series

fE R E
Working Voltage

5~240v DC/AC

5~30Vv DC

5~240v DC/AC

5~30v DC

5~240V DC/AC

5~30v DC

5~240V DC/AC

5~30v DC

BK &%
BK Series

Pl #3%l

Pl Series

e

Rt/Diameter  i& ASEL R i448/Joint Pipe Bore
ERT EBSE HFSE
L For:Tie-rod,Cylinder Round
Cylinder
7 [olo ] iz
J_ r 24—
TTD (-

EHT RS
For:Thin Type(compact)cylinder.

PABPEWE PI @ERE PN EERR
(leed clamplng (Fixed
ste-al belt) staal belt)

D0 B ¢

11.1

EQQ

PM IEJM PACIE!EI
(Fixed clamping  (Fixed clamping
device ) device )
OO o o =S R o DT
i 29.0 i %o
5.0
o =
i& Al F: FESTO
FOR:FESTO
77~ i &l /Sketch map
PN #7%
PAB PN Series

7~ . [E/Sketch map

PAC

;

PM &%
PM Series

N

PNEUMATIC

(o)



